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An individual inherits one allele from each parentv’
The Y chromosome was inherited from the fatherv’
And the recessive allele/ X" was inherited from the motherv’
since the other has two recessive allelesv’/ X" X"
A son only needs to get one recessive allele to be a haemophiliac v'since

the

Y-chromosome does not carry any allele to mask the haemophiliav"  Any 4
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Males only have one X-chromosomev’

If this chromosome carries the recessive allelev’/ Xd

The male will be colour blindv

Females have 2 X-chromosomesv’

They need to have two recessive allelesv'/ X9X¢ to be affected

A dominant allele on the other X-chromosome will mask the effectv" Any 4 (4)
[25]



